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o(p)/p (u- reconstructed as p-)
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o(p)/p (e- reconstructed as p-)
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o(p)/p (e- reconstructed as e-)
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[ sigma theta=17 |

o(p)/p (11- reconstructed as p-)

0.026

0.024

0.022

0.02

0.018

0.0186

0.014

0.012 M T T TS TS PR PR T ST ST T

[ sigma theta=87 |

0.04

0.035

0.03

0.025

0.02

0.015

L=]

| sigma theta=52 |

0.04

0.035

0.03

0.025

0.02

0.015

=
of
tr
-k
Y s
s
M
NE
nr
Wi
Wi
s
b
aE
ik

| sigma theta=122 |

th

0.04

0.035

0.03

0.025

0.02

0.015

n_lll
of
ar
=t
Yy s
uip
NE
NE
ar
wi
Wi
Ll
o
A
ok

o



o(p)/p (11- reconstructed as 11-)
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